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Basic Definitional

1.  The total number of shares of common stock that have been issued by Amazon Acrylic, Inc. (and are currently “outstanding” in the hands of investors) is 5,100,000.  How many shares will exist if Amazon’s board of directors declares a 5-for-3 stock split?  A 1-for-2 reverse stock split?  A 5% stock dividend?  If the stock currently sells in the market for $19.95 per share, what would we expect the value per share to be if each of these possible changes were to be undertaken?  

2.  The most recent year’s net income for Danube Diesel Works was $78,000,000.  If the company’s owners jointly held 19,500,000 shares of common stock (i.e., if there were 19.5 million shares of common stock outstanding), what was earnings per share (EPS) for the year?  If Danube paid out 55% of its net income as cash dividends to common stockholders, for a 55% “payout ratio,” what was the “retention ratio?”  What was the dividends per share (DPS) figure?  Would we typically expect a company to pay a constant percentage, such as 55%, of its net income as cash dividends to the common stockholders?

3.  Niagara Nickel Corporation’s net income in the most recent year was $27,000,000.  If the company’s board of directors decided to retain $12,000,000 for internal use, what might they have done with the remaining $15,000,000?

Work These for Sure

4.  Nile Numismatic Industries is owned by individuals and institutions (banks, pension funds, mutual funds) that jointly hold 10,000,000 shares of common stock.  The firm’s net income last year was $57,000,000.  Total cash dividends paid to the common stockholders was $25,650,000.  Compute the year’s earnings per share (EPS), dividends per share (DPS), and dividend payout ratio.  What would these figures have been if Nile’s board of directors had decided, at some point during the year, to declare a 4-for-1 stock split?  What if the board had instead decided, at some point during the year, to declare a 1-for-5 reverse stock split?  

5.  The net income earned by Rhine Refrigeration Company during the past year (which just ended today) was $125,000,000.  The company expects to earn approximately this same annual net income level in each of the next several years.  The board of directors has retained $50,000,000 of the past year’s $125,000,000 net income to buy new production equipment.  But instead of paying cash dividends with the remaining $75,000,000, as it might in a typical year, the board has decided to repurchase 600,000 of the 15,000,000 outstanding shares of the company’s common stock, which currently sells in the market for $125 per share.  If this repurchase were not expected to have any impact on subsequent years’ net income (or cash flows available to the common stockholders) or the relationship between a year’s net income and the stock’s market value, how would this action be expected to benefit the remaining common stockholders?  

6.  The chief financial officer of St. Lawrence Sandblasting expects the company’s net income in the coming year to be $29,000,000.  A recently approved plan calls for capital spending over the coming year to be $36,000,000.  The optimal capital structure for St. Lawrence is believed to be 38% debt/62% equity.  If the company follows a residual dividend policy, how much in cash dividends should its managers plan to pay to the common stockholders in the coming year?  What if net income were instead expected to be $40,000,000, $25,000,000, or $22,320,000? 


Would this type of dividend payment plan constitute a constant dividend payout ratio?

7.  The directors of Volga Vineyards believe in paying cash dividends to their common stockholders in accordance with the residual dividend theory.  The company has a plan to spend $945,000 on new wine pressing and bottling equipment over the coming year.  If the year’s net income is expected to be $730,000 and the company’s optimal capital structure is believed to be 60% debt/40% equity, what is the total amount of cash dividends that Volga should plan to pay?  What if the planned level of capital spending were instead $0?  What if it were $1,350,000?  At what level of capital spending would following a residual dividend policy no longer be a workable possibility? 

Work These for Extra Practice
8.  Cash dividends are paid to the common stockholders of Yangtze Enterprises based on the residual dividend theory.  Net income is expected to be $61,000,000 in the coming year, and planned capital expenditures are $82,000,000.  If the optimal capital structure is thought to be 46% debt/54% equity, what total amount of cash dividends should Yangtze plan to pay its common stockholders in the coming year?  What if planned capital spending were instead $10,000,000, or $110,000,000?  At what capital spending level would the residual dividend approach no longer lead to a viable outcome? 

9.  The managers of Zambezi Industries believe that the company’s optimal debt/equity ratio is 76%.  Net income 
(which we treat as a reasonable approximation for the cash flow available to the company’s common stockholders) 

is expected to be $6,950,000 in the coming year and $5,650,000 in the following year.  Spending on new capital equipment is expected to be $11,000,000 in the coming year and $12,000,000 the following year.  How much money should Zambezi expect to pay in total dividends each year, and how much should it plan to borrow each year, if:
· it always pays 40% of net income as cash dividends to the common stockholders?

· it pays $5,650,000 in total cash dividends to the common stockholders each year?

· it strictly adheres to a residual dividend policy?

Would the company’s common stockholders be likely to have a preference for one of these three plans?  
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